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Note: You have four choices for sach objective type quastion as A, B, C and D. The choice whech you think is correct,
Fill that bubble in front of that question number, on bubble shest. Use marker or pen to fill the bubbles. Cutting or
filling two or more bubbles will result in zero mark in that question, No eredit will be awarded in case = RUBBLES are
net filled. Do not solve questions on this sheet of OBIFCTIVE PAPER,

Q.No.] 1A
(1) a —3ab(a— b )bt a*=3dahia—b)-b=7 (1)

(A) o+ B (B) (a—h) (c) a"—=b (o) (a- FJ}

-

A irrational number that contains radical signs is called a; et e § et Lt ()

(A) Mixed surd < igess (3) Surd i (¢} Natural number s« )8 (D) Rational number »s ¥t
A linear polynomial is of degree: B Bl At (3)
(A 0 (B) 1 (C) () 3

Factorization of x* — 16 is: s xt —16 (4]
{A) (x-2)(x+2) (B} (x—43{x+4) (C) -,T_;]L_;-Lg]r,t-%;t_} (D) (x=2)(x+4)
The number of methods to find L.C.M are: T8 AL S B )
(A) 0 (B} 1 (C (D) 3

HCTFof 12pg, 8p'q =21 12pg 8pig (6)

(4) 4pg (B) 4p°¢* (c) 4pg’ (D) 4r°q

Any value of [|1f;‘. variable which makes the equation 1_:___"‘1[.‘:»:;__,; TP 5 -_;";? wdu ()
@ true statement is called the: )
(A} Equation =il (B)  Inequalitywii 7 () Solution J (D) Constant =
For each number "x' the absolute value of 'x! ig denoted by e Pl e = I e s (B)
(A) x (B) © | om0
A guadratic equation has a degree:

Ay 2 (B} .1

o $az it fq.'.'-_‘ L |..{ FILY |; "}}

Solutionsetof x* 9 =0 is SExt -G (107
(A) {91} (B) {£9}

If A'= =Authen '4' iscalled: bl A vt == 4 5 (1)
(A} Symmetric f&  (B) Skew symmewric F5 5 (0) Transpose &2 (D) Square matrix 5 -
Avangle containing more than 180% bt less than 5 Pl = 3607 A4 1807 15 dut otk (12)
3607 is called:
(a) Reflexangle -oi® () Obtuse Angle i = (C)  Straight angle 7", (D) Acute angle ysise
The angle biscetors of' a triangle are; SR pan s sl (13)

(A) Perpendicular i (i 37 (B) Collinear u#

(C) Concurrent ., &840 Non-concurrent & 4 &
Area of a recrangle is: e bew LK (14)

(A) £xb (B) %x { + h C) % £+ h (D) #*

Points lying on the same line are zallad: (SR e (15)

(A} Non-collinear &4 2 (B} Collingar Ld 4 (C) Equal - (m) Overlapping &
34(Ob])(¥)-2023(1*-A)- 10000 (MULTAN)
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NOTE: Write same question number and its R VTV s S 2 s fE sl /-*L,IrLFJJQKdF;'_ <
paris number on answer book, as given in the question paper.
SECTION-1  Jit»
2 Attempt any six parts, 12=2X6 ....,_,J;ful,i_?.&rfl;ga.u:( 2,-U:r
T TR oo d’ . = g u w l ':r

‘ Reduce to lowest term L, < '“'1 :I{;f -_-__’:E,l'_,:.l:"h";gﬁ; e I
| E Ifi‘-l‘- e d =
U SR : 2 | ——
| (ii) | Solve by u'tmfr formula: -:‘:r:-d"‘.;u-f.'_;uli T
| | (2 F—m) (47 4 m? g o )
| (£+m) (£—m1) + ) (£ mt) (Oam) (Z=m) (2 + mbY (65 + m?

(iii) | Define Surd. E A (iii)
m’} Fa-c;tcrizu: b + 312 . _ ,;;3{,-‘; 312 A (1v]
| R SRS O b0 il M
| ) Factorize: 98 — 7x — x* . 98 — Tx — 2 .FEud | (v} |

) | = ST S e, BT - | I |

(V) | Factorize: ¢2— 12r + 36 P12 +36 gt | (|
| (vii) | What is meant by the zera of a solynomial? | - - :jL__._J,f,d;L_/;ﬂ_f_'L?ﬁ;” | (vil)
{uu | Find . C"\-l by fau{;tmhuu ton. - o - I3 | i |

_*;‘:E':-;‘:"‘"Ul".‘...ih;’!J_iLifl il
plg- g, plat-p q

- ____ A" _ Pqg-pq. pg —pg -
B | Hled HLE bvfa"ﬂf‘"ir‘*‘li“”' §xpia’, 12x%47%2° _é'...wﬁau_-;gf{,.,; ‘ (1x]
Sxv?z, 1252757 .

3. Attempt any six parts. 12=2X%6 bt LI.ELF?IF:”_-L;.#’J/}JF:*
| (1)  Write Linear equation in one variable in *_H s e W SF Wi (1)

| standard form.

|—
£ i - |11ﬁ

(ii} | Write only two riles for solving an equation, e Rt B P F it .
= . 1 R ——
(i1} ‘ S 10x =1 10x -1 ~ (in
| Solve, == - =3 _FEF /
}‘ | 2x 4+ 5 £k 45 |
= - - — e e eme L — e {
(iv) '~ Solve the following nequality. 6 —x >4 6= x> 4ol f it | (V) |
) I S e — e SRS EL, =,
(v) | Solve by using fectorization method. 2 e [ (v} |
2 :31'= '!'-.évnh‘f;xf-— } [
2yr=—+73 ' A |
r— — | — i
(vi) | Write techniques to solve a quadratic equation, B P S 10 4 RN L
e o i —e
(vily | 1 3 4 ; [3 47| (vii)
Find the orderof R =!__ | < AR = '
| L& =l |
r'“. B e : i 155 197 P =1 ] o = Fr ol '.. %- .‘-"- [
(W11} | Deline transpose of matrix and give example. _Eatgt s A 28 {vui) |
{1x) l-lnd %" and "y oif 43 I 7 T | (ix}) |
- ] v ") & -'i{-rrﬂf- 1 X
-3 3y-4 e

E— -7
! +
-"‘J ik
L
s
| .
a
-
Il
£
e b
b
B -




|: ;‘.j i \ ! r i ow
4. Attempt any six parts. 12=2%X6 "_g@fal_.mirzrf;.&f_w:}dlf
(1) | Define Quadrilateral, ' ' E '_; ywr’,
_Eﬂ‘l | Define minor segment of a circle. ' a o e A ﬁ"’,f..._!., | (D)

(iii) | Look the given figure; find the pair
corresponding angles and complementary
angles.

IR di._jf.-lje,ri;t;.-sl*_.}_ﬁ.'._. L,'{:L-d;"ff _;-f ;_,EtLr ) (i) _

ra
—L;-‘"’m-‘

FA nf s ‘ an f > |

A/ /A

i_giv} Look the g given ligure; find the ’LIlLl{‘b GNP ALY s e | (iv) |
"M and " P -

’~ (v) | Define angle biscctors of o triangle. | __,:,f__éa;"gx_;r"l::';i-f'z"i'iéf* (v) |
I ey ==t = — - - { +
| (v1) | The sides of a right angle triangle are Sem and A0 O SN L At ST L I (vi)
|2cm. Find the hypotenuse. e e ]
AU
(vii) Find the volume of a sube of a side 4em. f"“""r’h”fu“ 4 ,:m__.-j:J-f{ 2 ,,_J_, {mj

"{viii) | Find the distance between pairs of points

| | (2,1), (-4, ) |

| (ix) | Describe the location of point {0, =7} on the ’ _V:i,e’{,l_i_.;,;é:;dadm-,r{ 0,-7) (ix)
number plane. ,

SECTION-11 (n_>

(2, 1), (—=4.3)/ :'-"L‘ .r'"hQuL"J.?L_HN W”” |

NOTE: Attempt any three questions. 24=8X3 éf}ul'fd:uﬂlfuf&jf SN
[5.0A) 2 | % 32 (.5 |
Simplify ——— + ———s | L S . 25|

: =¥  xX"RE | X—=3 4y
| (B) | Find H.C.F by factorization i ﬂ_,,-,. med sEgE | (L)
e 3 RURUR » % "_‘ '
| G N ) -2, By, tmxond |
P \— - = —=t s —
| 6.(A) Factorize 6dx' — xa®, _ i __‘*‘- ._jxf:é bdx’ — xa® l‘_._i'r'J-.G
(B) YD 2 E—4 - x—2 2 x-4
© o SSolve : b | LEEY F— g — ()
. 5 f: - 4 3 G
‘ 7.(A)  Solve using quadratic formula | 34 x—=2=0-Zf eral S
| 3872 -2=0 i
S i = | . _ = . i = [’) — : (_ |
(B) 2 6 -1 =3 . -1 =3 2 6| » 4
0 g 2= B= then ' far B= A=) A g
| verify (4B) =B’ 4’ (ABY — B' A" 7 &=k
i | £
“ramer’s tule (o solve the simultancous LA e g AL AL | ()8
equations. x—3y =5 2¢r—5y=90 * )
x—=3p=35 2Zx-5y=9 ‘
(B) | Consiruct a square whose one side is 3.5 cm. _J.F;-ﬁ'r-; 5 ﬁ_-#f_:;u,fé_.._ﬁz,_@ () |
9.0A) | The area of an equilateral triangle 15 4{3 em”. ,_,f;:;"zih,-':,;_ L % 43 LS. | (D9
| Find the length of a side. -.a’ir:'-*’.'%p' |
| I :_.n. -4
! B) | Show that the points A(0, 2). B(3,-2)and o B(3,=20:A(0,2) WSSt | ()
—_ P o :
J._l" i.“?_u } are urtu.,ea-“n! a right wiangle, nlaty sl €0~ 2 |

34-2023(1"-A)-10000 (M ULTAN)
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Note. You have four choices for each objective tvpe question as A, B, C and 1. The choice which vou think is correct,
Fill that bubble in front nf thal question number, on bubble sheet. Use marker or pen to {ill the bubbles. Cutting or
filling twe cr more bubbles will result in zero mark in that question. No credit will ke awarded in case BUBBLES are
not filled. Do not solve questions on this sheet of ORIECTIVE PAPER,

QNo.1
(b

(2)

(4)

(%)

(6)

18)

(9)

(1

(a + "?jz—{rf—bfu 7

(A) a®+H? (B) —4ab

Surd can be multiplied if they are of the:
(B) Same order Laamulf

I

(A} Order2
HCF of 6pgr, 15grs is
(A) iB)

3gr 1 pgr

" 5 | '
Factorization of (x+ 2} -1 is:

A (x—1(x+3) B (x=D(x-3)
The solution of 6 - x >4 s
(A) x<2 (B) x>2
Solution setof |x —1l=4 is;

(A) {-5 -3} (B) {3.-3}
The solution set of x* — Sx + 6 = () is;
(A)  {-2-3 (8} {2%

The solution set of x%=1/is;

(A) {=i} B) =1}
The matrices (A4B) ' =7

(A) 47 (B) p!

If A'=—Athen A is called:

(&) Skew symmetric s J

(€) Square matrix 5,

Angle in a semi-circle is a:

(A)  Obtuse angle .o 5
If A4BC = AFDE then med = -

(A) maF (B} mZD

A line joining one vertex of a triangle and
perpendicular (o its opposite side is called:
(A) Base sef
The side opposite to a right angle in a right
angled triangle is called:

(A) Diameter & (B) Altitude £15.
The origin has the so-ordinates:

(A) (0, 0) (BY (1,1)

(B) Pzrpendicular *

_l,/.-jdf.v'
(a4 by~ (a=by'=2 (1)

() dub (D) 2(a’-8%)

TN
f ot BT | T =
s e e A0 Lol (2)

(C)Ordern  $now (D) Different orders [ 20 ¥
P TE 6pgr A5grs (3)
) A5pgrs
23l (x+ 2P -1 @
(D (x+1)x+3)

=S¥ 6—x>4 (5)

(C) 3pgrs

(C) (x+1)(x—23)

()% g= (D) x>=2
e f¥ |x-1=4 (6)

(C) 1= 3 (D) 15 3)
code ¥ ¥ —Sx+6=0D (7

ey {23} o) {3}

ek SV =1 @)

(Cy {1} (M {-1}
(ABy ' =2 L Zusk (9)

(Ci 41p (D) p-ig-

bl A Je A =—a S (10)
(3} Symmetric e
(D) Transpose  JsiJ
(11)

- e sl K et Ll

(B)  Acuteangle _sinl- (C) Rightangle it (D) Straight angle £ _.;

ML = I A4BC = AFDE S (12)
fCY msE (DY nisC
et P L sl (13)

(C) Altitude L8 (p) Disector iy

i 4 e
_.T_L'-;p,«;:,J"‘Ll_-.f;u:.f:,_uul.‘-_;,f;ﬁi.ifnfel:r’;:L‘-' (14)

(U] Hypotenuse % (D) Perpendicular .»*
sl naby i (15)
(©) (0.1} D) (1,0)

36{0b1)(20)-2023(1°24)-4000 (MULTAN)
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parts number on answer book, as given in the question paper,

SUBJECTIVE i _»

NOTE: Write same question number and its

SECTION-I Ji.»
2. Attempt any six parts. 12=2 X§ .L’;f_,urfff. .?lgr—_df_z/dﬂr
o i P(r)=4zr? . then find Plr), H::z_q e b Beryednat, ()
22 7
forr =Rand m == . [}
— 7 - L A P+ )
(ii) | Pefine Rational numbers. A i)
I S = =7
u, Rationalize the denominator of - 1—_ -—l— Sk Ao B8 u)
445 {35 ‘
(iv) | Factorize x°+ 27 : - o | ,'r1 27 _gé'_,;; ! (iv) |
S | - T ]
(¥) | Factorize o’ +a - 3 =3 ala 9371 -5_.15,5 (v)
|
(vi) | Define “Remainder theorem’™, T =\ -L,.-.*"":;...é' A8 v (vi) |
‘ (¥il) ' Fing H.CF by [actorization x* - 64, »2—16 6 % - 16 :,ylﬁ‘._L,;:_r* S | (v
| {x-'jii-}_'ﬁﬂne Least Common Multiple, (L.CMYy | _ b;*':_é-}:d“;ﬁ.‘__ﬂ,y-,_;. (vii1) .
{ix) ‘ Find the square roat of 16x° + M5y - 9yt 162 + 24y + O 2 ,_f.f.-)h*g/'_s,;? {51}_ I
sl o - S : ]
3. Attempt any six parts, 12=2X6 - .qub'?i-'jff:—-&;-:!f‘
(i) |Solve 3x+3(x+1)=69 I+ 3x+1)=69 ) ()
| (D) | Solve |2r-3|=5. o o  2k-3]=5 £r| @ |
" (iii) | Solve the i mequajltt 3(x -2 y<2e=1 | _3{_: 3o g4 1 _ri_-_;"’f;, s _j, {1ii) ‘
| (iv) | Solve by factorization x%=8— 7x _r R ,.;jE 1v)
g2 - — = ==
(V) | Solve 2x%=3x ' j,x" & F v)
i (vi) | Define Column Matrix with example. s Al ey | {(vi)
(vii) - .. T#& =B ‘__ “Ta =& ' (vii)
I'ind the transpose of' a matrix A = " A=|" e .
¢ d | ¢ - | |
| |
iy T2 37 1171 'z 31 . [1 7] T (i)
Find 4~B A= .5-.-|r_ o A= _W,H.—.[ ér-J"z?—B|( ]
15 4 6| 11 5] " |4 6
(ix) | = 3 Qi< 5T | =3 z.jf - (i%)
Find the produect of [} 0l '
| RIS & el f)e J | 4 —1_[—'_3J s




(2)
4, Attempt any six parts. 12=2X6 - ___c{gfutlf&?f;;_.@{_@:"-
1’_11 " Define cc congruernt l,rmng]ea | ] AL 5'*":.,*:';‘ ' (1) |

(i) If two angles are complementary and the Wkt s i s nd, o gy (ii) |

larger angle is four times bigger than smaller

| : TE sl b still rim
angle, how many degrees are there in each Esll 7 obesiki s
| angle? S = .,
(iii) | Define parallzl lines. EaFSE {111)
(iv) | Draw an equilateral triangle with lengih RS 6 M e b e bl e 1Y)
__ ofeach side 6em. _ : iy AL
(v) | Define angle bisector of a tnangle. o Afunlypilet| W)
{(vi) | Find the third side of right triangle with legs LUl ab Bt sk )07 | fvi)
a, b and hypotenuse c. ) o i
=35 =ik b=% a=3 ¢c= ]J. D=2 ownrc sl .
(vii} = Find the hypotenuse of 2 right isosceles S L a2l B L | (vit) ‘
triangle whose legs are Sem il
- a"‘"\..-“ 8 l.:"-' 1w A5 [
NI R B S X = = —._ITTT. |
(vitl) = Write down the distanee formula 1o find KL S Selile s Sy | VIR |
s KL il 3 ;
| distance between two points. " - B S e
(ix) Describe the location of the point (3, 6) bS58 43, 6) 4 {ix) ‘
on a number plane, B S \

SECTION-11 (o2
NOTE: Attempt any three qucstmm. 24=8 x:_s _.;'f;_gj....wi...m!ﬂ,f:..& - .J

5.1A) | Find the vale of (- ) if 4y e —16,,5{5;;## i (x ~ ¥ ) | f.....n )
I:._+ }': = 86 ar_v:.i" .r_.1- = -1 .. ) _d.:_ i+ -,F.— 86 |
(B) | The product of two polynomials and their 3L B b - S6x — 4R AT S | 6D ‘
| L T A . _4 _3 - : _ -T . 1 ¥ . " ! | ’
| HC.Fare x™ + 6x" — 3x° — 56x — 48 and e a2 11 12 _,,ujﬁ&l”!?_ .

3 a . W "
¥ 4+ 2x” —11x — 12 respectively.

18 [ -4 -u&ﬂ" Ph-i_,.ﬁrl—'ll-ﬂ'-”lz"l
Find their L.C.M. -

6.(A) | Factorize a b a1 b° a—-b—adi b :_‘54 (,_:,I-}_.ﬁ

(B) | Solve y—6+Jy=0 y—6+43=0 -E£F! () |

7.(A) | Solve by using quadratic formula. N e
(v =1)(x +3) <2 = -0

L
=
et
=

(£ ~1)(x+3) =12 =0/ L assif Ko

(B) <3 | 3 -2 2 4 ¢
If A=| 1 R = then S &=k B= VA = A
| 3_} ‘-:- é‘ —1 6 _J I E q 1!
verifythat (A4 + B) = B{ (4+8)Y =44+ B
B.{A) | Usge Cramer’s r ule to solve the simultaneous S M e B EE S| )
equations. x-3y=5 2x—-5y=9 . ) " ) g
x=3p=5 I2x-35=
l+_'_" T G gy T " 1 B : e 3
{ (B} | Construet @ square whose one side is 3.5cm. s Paetded | (W)
- E— s ay = | I—— . e
9.{A) | A verandah 40m long and l_‘-mlwide 15 to be -.-'E,;LL«'" e R NS LR 40 SR aafal | (L)LY
paved with slones each measuring 6m by 7
i i : i A .,
S5m. Find the number of stones, | - Juri 'JJ-r AUPAEHE x K5
(B} | Show that the points A(4, —2). B(-2, 4) C(5,5)4B(-2,4) . A(4, —F"}L-,,J.T...f_lf ()
|and (35, 5) are vertices of an isosceles L T
, ' _._,"ul,n‘__.,,,ww.- e o |
Q triangle. WP N— || . [

36-2023(1%-A1-4000 (MULTAN)




